

the expression on the right in (A5) is finite, and so the integral in (3) converges in quadratic mean.

ACKNOWLEDGMENT

The author gratefully acknowledges the efforts and advice of the referees who provided valuable insight in the revision of this correspondence.

REFERENCES

- [1] K. Bockasten, "Transformation of observed radiances into radial distribution of the emission of a plasma," *J. Opt. Soc. Amer.*, vol. 51, pp. 943-947, Sept. 1961.
- [2] H. A. Griem, *Plasma Spectroscopy*. New York: McGraw-Hill, 1964.
- [3] R. C. Birkebak and C. J. Cremers, "Application of the Abel integral equation to spectrographic data," *Appl. Opt.*, vol. 5, pp. 1057-1064, June 1966.
- [4] R. South and B. M. Hayward, "Temperature measurement in conical flames by laser interferometry," *Combustion Sci. Technol.*, vol. 12, pp. 183-195, May 1976.
- [5] R. N. Bracewell, "Strip integration in radio astronomy," *Australian J. Phys.*, vol. 9, pp. 198-217, June 1956.
- [6] I. J. D. Craig, "The inversion of Abel's integral equation in astrophysical problems," *Astron. Astrophys.*, vol. 79, pp. 121-127, Oct. 1979.
- [7] D. Marcuse, *Principles of Optical Fiber Measurements*. New York: Academic, 1981.
- [8] D. C. Hammond, Jr., "Deconvolution technique for line-of-sight optical measurements in axisymmetric sprays," *Appl. Opt.*, vol. 20, pp. 493-499, Feb. 1981.
- [9] E. W. Hansen and P. L. Law, "Recursive methods for computing the Abel transform and its inverse," *J. Opt. Soc. Amer. A*, vol. 2, pp. 510-520, Apr. 1985.
- [10] E. W. Hansen, "Fast Hankel transform algorithm," *IEEE Trans. Acoust., Speech, Signal Processing*, vol. ASSP-33, pp. 666-671, June 1985.
- [11] R. N. Bracewell, *The Fourier Transform and Its Applications*. New York: McGraw-Hill, 1965, pp. 262-266.
- [12] R. T. Shelby, "Abel inversion error propagation analysis," Thesis, Dept. Mathematics, Univ. of Tennessee, Knoxville, 1976.
- [13] G. N. Watson, *Theory of Bessel Functions*. New York: Cambridge Univ. Press, 1966, pp. 170, 224.
- [14] M. Abramowitz and I. A. Stegun, *Handbook of Mathematical Functions*. New York: Dover, 1965, pp. 360, 364, 365.
- [15] F. W. J. Olver, *Asymptotics and Special Functions*. New York: Academic, 1974, p. 437.
- [16] H. Cramer and M. R. Leadbetter, *Stationary and Related Stochastic Processes*. New York: Wiley, 1967, pp. 43, 82-88.

Determination of the Merit Factor of Legendre Sequences

TOM HØHOLDT AND HELGE E. JENSEN

Abstract—Golay has used the ergodicity postulate to calculate that the merit factor F of a Legendre sequence offset by a fraction f of its length has an asymptotic value given by $1/F = (2/3) - 4|f| + 8f^2$, $|f| \leq 1/2$, which gives $F = 6$ for $|f| = 1/4$. Here this is proved without using the ergodicity postulate.

I. INTRODUCTION

The merit factor of a sequence of N elements x_j , $0 \leq j \leq N-1$ of value $+1$ or -1 , is defined by

$$F = N^2 / \left(2 \sum_{k=1}^{N-1} c_k^2 \right) \tag{1.1}$$

Manuscript received December 19, 1986; revised February 23, 1987. The authors are with the Mathematical Institute, The Technical University of Denmark, Building 303, DK-2800 Lyngby, Denmark. IEEE Log Number 8719314.

where

$$c_k = \sum_{j=0}^{N-k-1} x_j x_{j+k} \tag{1.2}$$

The merit factor was defined by Golay [1] who conjectured [2] that $F \leq 12.32$ for all binary sequences, with the exception of the Barker sequence of length 13 for which $F = 14.08$. In [3] Golay used what he called the "ergodicity postulate" to establish the asymptotic merit factor of offset Legendre sequences.

Legendre sequences have length p (an odd prime) and are defined by

$$x_0 = 1 \text{ and } x_j = \begin{cases} 1, & \text{if } j \text{ is a square (mod } p), \\ -1, & \text{if } j \text{ is a nonsquare (mod } p). \end{cases} \tag{1.3}$$

An "offset" sequence is one in which a fraction f of its elements is chopped off at one end of the Legendre sequence and appended at the other. Golay arrived at the formula

$$1/F = (2/3) - 4|f| + 8f^2, \quad |f| \leq \frac{1}{2}, \tag{1.4}$$

which we prove to be correct without using the ergodicity postulate.

In Section II we present a method for calculating the merit factor of any odd-length sequence, and in Section III we use the method in the case of offset Legendre sequences.

Odlyzko has told us that Stephens announced an independent solution of the problem for Legendre sequences. More recently, Van Lint informed us that Heath-Brown and Birch have also announced a proof.

II. CALCULATION OF THE MERIT FACTOR FOR AN ODD-LENGTH SEQUENCE

Let (x_j) , $j = 0, 1, \dots, N-1$ be any ± 1 sequence of odd length N . Let $Q(z) = x_0 + x_1 z + \dots + x_{N-1} z^{N-1}$ be the z transform of the sequence. A straightforward calculation yields

$$|Q(e^{i\theta})|^2 = N + c_1(e^{i\theta} + e^{-i\theta}) + \dots + c_{N-1}(e^{i(N-1)\theta} + e^{-i(N-1)\theta}), \tag{2.1}$$

and therefore by putting $\epsilon_j = e^{(2\pi i/N) \cdot j}$,

$$\sum_{j=0}^{N-1} |Q(\epsilon_j)|^4 = N^3 + 2N \sum_{k=1}^{N-1} c_k c_{N-k} + 2N \sum_{k=1}^{N-1} c_k^2$$

and

$$\sum_{j=0}^{N-1} |Q(-\epsilon_j)|^4 = N^3 + 2N(-1)^N \sum_{k=1}^{N-1} c_k c_{N-k} + 2N \sum_{k=1}^{N-1} c_k^2.$$

Since N is odd, we get

$$2 \sum_{k=1}^{N-1} c_k^2 = \frac{1}{2N} \left(\sum_{j=0}^{N-1} |Q(\epsilon_j)|^4 + \sum_{j=0}^{N-1} |Q(-\epsilon_j)|^4 \right) - N^2. \tag{2.2}$$

We put $S = \sum_{j=0}^{N-1} (|Q(\epsilon_j)|^4 + |Q(-\epsilon_j)|^4)$ and obtain

$$1/F = S/2N^3 - 1. \tag{2.3}$$

It now follows from a well-known interpolation formula [4, p. 89] that

$$Q(z) = \frac{1}{N} \sum_{j=0}^{N-1} \epsilon_j \frac{z^N - 1}{z - \epsilon_j} \cdot Q(\epsilon_j), \tag{2.4}$$

and therefore,

$$Q(-\epsilon_k) = \frac{2}{N} \sum_{j=0}^{N-1} \frac{\epsilon_j}{\epsilon_k + \epsilon_j} Q(\epsilon_j) \quad (2.5)$$

so that

$$S_1 = \sum_{k=0}^{N-1} |Q(-\epsilon_k)|^4 = \frac{16}{N^4} \sum_{k=0}^{N-1} \left| \sum_{j=0}^{N-1} \frac{\epsilon_j}{\epsilon_j + \epsilon_k} Q(\epsilon_j) \right|^4 \quad (2.6)$$

$$= \frac{16}{N^4} \sum_{\substack{a,b=0 \\ c,d}}^{N-1} Q(\epsilon_a) \bar{Q}(\epsilon_b) Q(\epsilon_c) \bar{Q}(\epsilon_d) \epsilon_a \cdot \epsilon_c \cdot \sum_{j=0}^{N-1} \frac{1}{\epsilon_a + \epsilon_j} \cdot \frac{\epsilon_j}{\epsilon_b + \epsilon_j} \cdot \frac{1}{\epsilon_c + \epsilon_j} \cdot \frac{\epsilon_j}{\epsilon_d + \epsilon_j} \quad (2.7)$$

The inner sum in (2.7) can be calculated. The result depends, of course, on the relations between $a, b, c,$ and d . In all cases we use partial fraction expansion of

$$\frac{z^2}{(z + \epsilon_a)(z + \epsilon_b)(z + \epsilon_c)(z + \epsilon_d)},$$

which corresponds to the term in the inner sum.

Case 1: Note that $a, b, c,$ and d are mutually different:

$$\begin{aligned} & \sum_{j=0}^{N-1} \frac{1}{\epsilon_a + \epsilon_j} \cdot \frac{\epsilon_j}{\epsilon_b + \epsilon_j} \cdot \frac{1}{\epsilon_c + \epsilon_j} \cdot \frac{\epsilon_j}{\epsilon_d + \epsilon_j} \\ &= \sum_{j=0}^{N-1} \frac{\alpha_1}{\epsilon_a + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_2}{\epsilon_b + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_3}{\epsilon_c + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_4}{\epsilon_d + \epsilon_j} \\ &= \left(\frac{\alpha_1}{\epsilon_a} + \frac{\alpha_2}{\epsilon_b} + \frac{\alpha_3}{\epsilon_c} + \frac{\alpha_4}{\epsilon_d} \right) \sum_{l=0}^{N-1} \frac{1}{1 + \epsilon_l}, \end{aligned}$$

but here the term in the brackets is zero, so the whole sum has value zero.

Case 2: We have $a = c,$ and $a, b,$ and d are mutually different. We get

$$\begin{aligned} & \sum_{j=0}^{N-1} \frac{\alpha_1}{\epsilon_a + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_2}{\epsilon_b + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_3}{\epsilon_d + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_4}{(\epsilon_a + \epsilon_j)^2} \\ &= \left(\frac{\alpha_1}{\epsilon_a} + \frac{\alpha_2}{\epsilon_b} + \frac{\alpha_3}{\epsilon_d} + \frac{\alpha_4}{\epsilon_a^2} \right) \sum_{l=0}^{N-1} \frac{1}{1 + \epsilon_l} \\ & \quad + \frac{\alpha_4}{\epsilon_a^2} \sum_{l=0}^{N-1} \left[\frac{1}{(1 + \epsilon_l)^2} - \frac{1}{(1 + \epsilon_l)} \right] \\ &= \frac{\alpha_4}{\epsilon_a^2} \sum_{l=0}^{N-1} \left[\frac{1}{(1 + \epsilon_l)^2} - \frac{1}{(1 + \epsilon_l)} \right], \end{aligned}$$

and here $\alpha_4 = \epsilon_a^2 / (\epsilon_b - \epsilon_a)(\epsilon_d - \epsilon_a)$ and

$$\sum_{l=0}^{N-1} \left[\frac{1}{(1 + \epsilon_l)^2} - \frac{1}{1 + \epsilon_l} \right] = - \sum_{l=0}^{N-1} \frac{1}{|1 + \epsilon_l|^2} = - \frac{N^2}{4}$$

(see [5, p. 105]). Therefore, the sum in this case is

$$- \frac{N^2}{4} \cdot \frac{1}{(\epsilon_b - \epsilon_a)} \cdot \frac{1}{(\epsilon_d - \epsilon_a)}.$$

Case 3: Note that $a = b = c \neq d$. We get

$$\begin{aligned} & \sum_{j=0}^{N-1} \frac{\alpha_1}{\epsilon_a + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_2}{\epsilon_d + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_3}{(\epsilon_a + \epsilon_j)^2} + \sum_{j=0}^{N-1} \frac{\alpha_4}{(\epsilon_a + \epsilon_j)^3} \\ &= \left(\frac{\alpha_1}{\epsilon_a} + \frac{\alpha_2}{\epsilon_d} + \frac{\alpha_3}{\epsilon_a^2} + \frac{\alpha_4}{\epsilon_a^3} \right) \sum_{l=0}^{N-1} \frac{1}{1 + \epsilon_l} \\ & \quad + \frac{\alpha_3}{\epsilon_a^2} \sum_{l=0}^{N-1} \left[\frac{1}{(1 + \epsilon_l)^2} - \frac{1}{1 + \epsilon_l} \right] \\ & \quad + \frac{\alpha_4}{\epsilon_a^3} \sum_{l=0}^{N-1} \left[\frac{1}{(1 + \epsilon_l)^3} - \frac{1}{(1 + \epsilon_l)} \right] \\ &= 0 - \frac{\alpha_3}{\epsilon_a^2} \cdot \frac{N^2}{4} + \frac{\alpha_4}{\epsilon_a^3} \cdot \left(- \frac{3}{8} N^2 \right) \end{aligned}$$

where

$$\alpha_3 = \frac{-\epsilon_a(2\epsilon_d - \epsilon_a)}{(\epsilon_d - \epsilon_a)^2} \quad \text{and} \quad \alpha_4 = \frac{\epsilon_a^2}{\epsilon_d - \epsilon_a}.$$

Here

$$\sum_{l=0}^{N-1} \left[\frac{1}{(1 + \epsilon_l)^3} - \frac{1}{(1 + \epsilon_l)} \right]$$

is calculated by using the fact that the $1/(1 + \epsilon_l)$ are the roots of $P(z) = z^N((z^{-1} - 1)^N - 1)$, and hence the $1/(1 + \epsilon_a)^3$ are the roots of $P_1(z)$, where

$$P_1(u^3) = P(u)P(\epsilon u)P(\epsilon^2 u) \quad \text{and} \quad \epsilon = -\frac{1}{2} + i\frac{\sqrt{3}}{2}.$$

In Case 3, therefore, we obtain that the sum is

$$\frac{N^2}{8} \left(\frac{2(2\epsilon_d - \epsilon_a)}{\epsilon_a(\epsilon_d - \epsilon_a)^2} - \frac{3}{\epsilon_a(\epsilon_d - \epsilon_a)} \right).$$

Case 4: We have $a = b \neq c = d$; we get

$$\begin{aligned} & \sum_{j=0}^{N-1} \frac{\alpha_1}{\epsilon_a + \epsilon_j} + \sum_{j=0}^{N-1} \frac{\alpha_2}{(\epsilon_a + \epsilon_j)^2} + \sum_{j=0}^{N-1} \frac{\alpha_3}{(\epsilon_c + \epsilon_j)} + \sum_{j=0}^{N-1} \frac{\alpha_4}{(\epsilon_c + \epsilon_j)^2} \\ &= \left(\frac{\alpha_1}{\epsilon_a} + \frac{\alpha_2}{\epsilon_a^2} + \frac{\alpha_3}{\epsilon_c} + \frac{\alpha_4}{\epsilon_c^2} \right) \sum_{l=0}^{N-1} \frac{1}{1 + \epsilon_l} \\ & \quad + \left(\frac{\alpha_2}{\epsilon_a^2} + \frac{\alpha_4}{\epsilon_c^2} \right) \sum_{l=0}^{N-1} \left[- \frac{1}{(1 + \epsilon_l)^2} - \frac{1}{1 + \epsilon_l} \right] \\ &= 0 + \left(\frac{\alpha_2}{\epsilon_a^2} + \frac{\alpha_4}{\epsilon_c^2} \right) \left(- \frac{N^2}{4} \right) \end{aligned}$$

where $\alpha_2 = \epsilon_a^2 / (\epsilon_a - \epsilon_c)^2$ and $\alpha_4 = \epsilon_c^2 / (\epsilon_a - \epsilon_c)^2$, so the sum in this case is

$$- \frac{N^2}{2} \left(\frac{1}{(\epsilon_a - \epsilon_c)^2} \right).$$

Case 5: We have $a = b = c = d$. Here we consider

$$\sum_{j=0}^{N-1} \frac{\epsilon_a^2 \cdot \epsilon_j^2}{(\epsilon_j + \epsilon_a)^4} = \sum_{l=0}^{N-1} \frac{1}{|1 + \epsilon_l|^4} = \frac{1}{16} \left(\frac{1}{3} N^4 + \frac{2}{3} N^2 \right),$$

which follows easily from [6, p. 223]. Note that we here include $\epsilon_a \cdot \epsilon_c$ from (2.7) in the inner sum.

Using these results, we obtain

$$S_1 = \frac{16}{N^4} (A + B + C + D)$$

where

$$\begin{aligned} A &= \frac{1}{16} \left(\frac{1}{3} N^4 + \frac{2}{3} N^2 \right) \sum_{a=0}^{N-1} |Q(\epsilon_a)|^4 \\ B &= \frac{N^2}{8} \sum_{\substack{a,b=0 \\ a \neq b}}^{N-1} 2|Q(\epsilon_a)|^2 \left(\bar{Q}(\epsilon_a) Q(\epsilon_b) \epsilon_b + Q(\epsilon_a) \bar{Q}(\epsilon_b) \epsilon_a \right) \left(\frac{\epsilon_a + \epsilon_b}{(\epsilon_b - \epsilon_a)^2} \right) \\ C &= -\frac{N^2}{4} \sum_{\substack{a,b,c=0 \\ a \neq b \neq c}}^{N-1} 2|Q(\epsilon_a)|^2 \left(\frac{Q(\epsilon_b) \bar{Q}(\epsilon_c) \epsilon_a \epsilon_b + \bar{Q}(\epsilon_b) Q(\epsilon_c) \epsilon_a \epsilon_c}{(\epsilon_b - \epsilon_a)(\epsilon_c - \epsilon_a)} \right) \\ &\quad - \frac{N^2}{4} \sum_{\substack{a,b,c=0 \\ a \neq b \neq c}}^{N-1} \frac{Q^2(\epsilon_a) \bar{Q}(\epsilon_b) \bar{Q}(\epsilon_c) \epsilon_a^2 + \bar{Q}^2(\epsilon_a) Q(\epsilon_b) Q(\epsilon_c) \epsilon_b \epsilon_c}{(\epsilon_b - \epsilon_a)(\epsilon_c - \epsilon_a)} \\ D &= -\frac{N^2}{2} \cdot \frac{1}{2} \sum_{\substack{a,b=0 \\ a \neq b}}^{N-1} \frac{4|Q(\epsilon_a)|^2 |Q(\epsilon_b)|^2 \epsilon_a \epsilon_b + Q^2(\epsilon_b) \bar{Q}^2(\epsilon_a) \epsilon_b^2 + Q^2(\epsilon_a) \bar{Q}^2(\epsilon_b) \epsilon_a^2}{(\epsilon_a - \epsilon_b)^2} \end{aligned}$$

III. OFFSET LEGENDRE SEQUENCES

We now treat Legendre sequences as defined by (1.3). Long ago Gauss [7] knew that

$$Q(1) = 1, \quad Q(\epsilon_j) = \begin{cases} 1 + x_j \sqrt{N}, & \text{if } N \equiv 1 \pmod{4}, \\ 1 + ix_j \sqrt{N}, & \text{if } N \equiv 3 \pmod{4}, \end{cases} \quad j \neq 0. \quad (3.1)$$

Let $Q_t(z)$ denote the z transform of an offset Legendre sequence arising from t cyclic left shifts of a Legendre sequence. We then have

$$Q_t(\epsilon_j) = \epsilon_j^{-t} Q(\epsilon_j). \quad (3.2)$$

Therefore,

$$|Q_t(1)| = 1 \quad (3.3)$$

and

$$|Q_t(\epsilon_j)|^2 = \begin{cases} 1 + N + 2x_j \sqrt{N}, & \text{if } N \equiv 1 \pmod{4}, \\ 1 + N, & \text{if } N \equiv 3 \pmod{4}, \end{cases} \quad j \neq 0, \quad (3.4)$$

which yields

$$|Q_t(\epsilon_j)|^4 = \begin{cases} N^2 + 4x_j N^{3/2} + 6N + 4x_j \sqrt{N} + 1, & \text{if } N \equiv 1 \pmod{4}, \\ N^2 + 2N + 1, & \text{if } N \equiv 3 \pmod{4}, \end{cases} \quad j \neq 0. \quad (3.5)$$

We are only interested in asymptotic results, so in the following calculations we neglect all but the highest (in N) order term of $Q_t(\epsilon_j)$, $|Q_t(\epsilon_j)|^2$, and $|Q_t(\epsilon_j)|^4$.

This is allowed by crude estimations where we only consider the numerical value and use

$$\sum_{\nu=1}^{N-1} \frac{1}{|\epsilon_\nu - 1|} \leq N \log N \quad (3.6)$$

and

$$\sum_{\nu=1}^{N-1} \frac{1}{|\epsilon_\nu - 1|^2} = \frac{1}{12} N^2 - \frac{1}{12}. \quad (3.7)$$

Here (3.6) follows from

$$\sum_{\nu=1}^{N-1} \frac{1}{|\epsilon_\nu - 1|} = \frac{1}{2} \sum_{\nu=1}^{N-1} \frac{1}{\left| \sin \frac{\nu\pi}{N} \right|} = \sum_{\nu=1}^{(N-1)/2} \frac{1}{\left| \sin \frac{\nu\pi}{N} \right|}.$$

Hence if we use that $2/\pi x \leq \sin x \leq x$ for $x \in [0, \pi/2]$ and the logarithmic bound on the partial sum of the harmonic series, we get the result. Also, note from [6, p. 224] that $(1/12)N^2 - (1/12)$ of (3.7) may be replaced by $(1/4) \sum_{\nu=1}^{N-1} 1/(\sin^2(\pi\nu/N))$.

In the sequel we use \sim to indicate that lower order terms are neglected. We now treat each of the expressions A , B , C , and D singly:

$$A \sim \frac{1}{16} \left(\frac{1}{3} N^4 \cdot N^3 \right) \quad \text{by (3.5)}$$

$$B \sim \frac{N^2}{8} \cdot 2$$

$$\cdot N \sum_{\substack{a,b=0 \\ a \neq b}}^{N-1} \frac{(\epsilon_b \cdot \epsilon_b^{-t} \epsilon_a^t x_a x_b N + \epsilon_a \cdot \epsilon_a^{-t} \epsilon_b^t x_a x_b N)(\epsilon_a + \epsilon_b)}{(\epsilon_b - \epsilon_a)^2}$$

$$= \frac{N^4}{4} \sum_{\substack{a,b=0 \\ a \neq b}}^{N-1} \frac{\epsilon_{a-b}^{t+1} + \epsilon_{a-b}^{2-t} + \epsilon_{a-b}^t + \epsilon_{a-b}^{1-t}}{(1 - \epsilon_{a-b})^2} x_a x_b$$

$$= \frac{N^4}{4} \sum_{k=1}^{N-1} (c_k + c_{N-k}) \frac{\epsilon_k^{t+1} + \epsilon_k^{2-t} + \epsilon_k^t + \epsilon_k^{1-t}}{(1 - \epsilon_k)^2}$$

$$= \frac{N^4}{4} \cdot O(N^2) \quad (3.8)$$

where we use (3.7) and the fact (e.g., [3]) that $|c_k + c_{N-k}| \leq 3$ for Legendre sequences.

The sum C is again $O(N^6)$. This can be seen by summing first with respect to a , using $\sum_{k=1}^{N-1} 1/(1 - \epsilon_k) = (N-1)/2$, and then using a rewriting similar to the one that gave the two last

expressions in B . To treat D , we have

$$\begin{aligned} D &= \frac{3N^2}{4} \sum_{\substack{a, b=0 \\ a \neq b}}^{N-1} \frac{|Q_t(\epsilon_a)|^2 |Q_t(\epsilon_b)|^2}{|1 - \epsilon_{a-b}|^2} \\ &+ \frac{N^2}{4} \sum_{\substack{a, b=0 \\ a \neq b}}^{N-1} \frac{|Q_t(\epsilon_a)|^2 |Q_t(\epsilon_b)|^2 + 2\operatorname{Re} Q_t^2(\epsilon_b) \overline{Q_t}^2(\epsilon_a) \cdot \epsilon_{b-a}}{|1 - \epsilon_{a-b}|^2} \\ &\sim \frac{3N^2}{4} \cdot N^3 \sum_{k=1}^{N-1} \frac{1}{|1 - \epsilon_k|^2} + \frac{N^2}{4} \cdot N^3 \sum_{k=1}^{N-1} \frac{1 + \epsilon_k^{2t-1} + \epsilon_{-k}^{2t-1}}{|1 - \epsilon_k|^2} \\ &= \frac{3N^5}{4} \left(\frac{1}{12} N^2 + O(N) \right) \\ &+ \frac{N^5}{4} \left(\frac{1}{4} N^2 - \frac{1}{4} + (2t-1)(2t-2) - (2t-1)(N-1) \right) \end{aligned}$$

since the last sums equals

$$\begin{aligned} &\sum_{k=1}^{N-1} \left[\frac{3}{|1 - \epsilon_k|^2} - \sum_{j=1}^{2t-1} j(\epsilon_k^{2t-j-1} + \epsilon_{-k}^{2t-j-1}) + 2t-1 \right] \\ &= \frac{1}{4} N^2 - \frac{1}{4} + 2 \sum_{j=1}^{2t-2} j - 2(2t-1)(N-1) + (2t-1)(N-1) \\ &= \frac{1}{4} N^2 - \frac{1}{4} + (2t-1)(2t-2) - (2t-1)(N-1). \end{aligned}$$

We can now summarize. By (2.3), we have

$$\begin{aligned} 1/F &= \frac{1}{2N^3} (S) - 1 \\ &= \frac{1}{2N^3} (N^3 + S_1) - 1 \\ &= \frac{1}{2N^3} \left(N^3 + \frac{16}{N^4} \left[\frac{1}{16} \left(\frac{1}{3} N^7 \right) + \frac{1}{16} N^7 \right. \right. \\ &\quad \left. \left. + \frac{N^5}{4} \left(\frac{1}{4} N^2 + (2t-1)(2t-2) - (2t-1)(N-1) \right) \right] \right) - 1 \\ &= \frac{2}{3} + 8 \left(\frac{t}{N} \right)^2 - 4 \left(\frac{t}{N} \right) \\ &= \frac{2}{3} + 8f^2 - 4|f| \end{aligned}$$

where $|f| = t/N$ in agreement with Golay's result.

IV. CONCLUSION

The formula (2.2) that was used in our calculations grew out of an attempt to calculate the merit factor using integrals. If, as before, $Q(z)$ is the z transform of the sequence x_0, x_1, \dots, x_{N-1} , simple calculations give

$$\frac{1}{2\pi} \int_0^{2\pi} |Q(e^{i\theta})|^4 d\theta = N^2 + 2 \sum_{k=1}^{N-1} c_k^2. \quad (4.1)$$

This also follows from (2.1) by means of Parseval's formula.

Polynomials with ± 1 coefficients considered on the unit circle in the complex plane have been intensively studied by Littlewood and many others. Unfortunately, there have been no results on integrals of the type (4.1), which can give new information on the behavior of the merit factor. (The situation will probably turn out to be the reverse.) However, one can try to evaluate the integral using interpolation, and the result [8, theorem 2.6] then gives

(2.2) for odd N . This identity can also be verified by direct calculation (easy—when you know the result). The method then depends on our knowledge of the values of $Q(z)$ for $z = \exp(i2\pi k/N)$, $k = 0, 1, \dots, N-1$. For Legendre sequences these values are known and simple to deal with, but in other situations it should be possible to obtain new information using this method.

The method used by Golay in [3] is quite different. He assumes—and this is the ergodicity postulate—that if you are only interested in asymptotic results, it is allowed to treat the correlations as independent random variables. With this assumption you can then use the machinery of probability theory. For Legendre sequences, offset or not, this turns out to give the correct result.

In [2] the same method leads to the general conclusion that the maximal value of the merit factor tends to $12.32 \dots$ when the length tends to infinity. We doubt that this is true and, therefore, also doubt that the ergodicity postulate can be used in general.

Concerning the terms A, B, C, D at the end of Section II, we find it probable that, for sequences with good merit factor, the contributions from B and C will vanish asymptotically. Hence, the merit factor probably never exceeds the value 6.

This belief is supported, or at least is not rejected, by the result in [9]. Here the merit factor is calculated for several good sequences with lengths greater than 100. In every case the result is either strictly smaller than or suspiciously close to 6. We therefore make a new conjecture concerning the merit factor problem, namely, that asymptotically the maximum value of the merit factor is 6 and hence that offset Legendre sequences are optimal.

REFERENCES

- [1] M. J. E. Golay, "Sieves for low autocorrelation binary sequences," *IEEE Trans. Inform. Theory*, vol. IT-23, no. 1, pp. 43–51, Jan. 1977.
- [2] —, "The merit factor of long, low autocorrelation binary sequences," *IEEE Trans. Inform. Theory*, vol. IT-28, no. 3, pp. 543–549, May 1982.
- [3] —, "The merit factor of Legendre sequences," *IEEE Trans. Inform. Theory*, vol. IT-29, no. 6, pp. 934–936, Nov. 1983.
- [4] G. Pólya and G. Szegő, *Aufgaben und Lehrsätze aus der Analysis II*. Berlin: Springer, 1925.
- [5] V. Mangulis, *Handbook of Series for Scientists and Engineers*. New York: Academic, 1965.
- [6] T. J. I. A. Bromwich, *An Introduction to the Theory of Infinite Series*. London: MacMillan, 1965.
- [7] M. R. Schroeder, *Number Theory in Science and Communication*. Berlin: Springer, 1984, p. 169.
- [8] A. Zygmund, *Trigonometric Series, vol. II*. Cambridge, UK: Cambridge Univ. Press, 1959.
- [9] G. F. M. Beenker, T. A. C. M. Claasen, and P. W. C. Hermes, "Binary sequences with a maximally flat amplitude spectrum," *Phillips J. Res.*, vol. 40, no. 5, pp. 289–304, 1985.

Bounds for the Size of Radar Arrays

A. BLOKHUIS AND H. J. TIERSMA

Abstract—Improved upper and lower bounds for the size of radar arrays are presented.

INTRODUCTION

From [1] we recall the following definitions.

Definition 1: A radar array is an $N \times M$ matrix of ones and zeros, with a single one per column, such that the horizontal

Manuscript received May 6, 1986; revised April 27, 1987. This work was supported in part by the Netherlands Organization for the Advancement of Pure Research (ZWO).

The authors are with the Department of Mathematics and Computing Science, Eindhoven University of Technology, P.O. Box 513, 5600 MB Eindhoven, The Netherlands.

IEEE Log Number 8719315.